P 2L d https://lwww.pass2lead.com/nse6_fad-6-2.html
ass ea 2024 Latest pass2lead NSE6_FAD-6.2 PDF and VCE dumps Download
https://Pass2Lead.com

NSE6 FAD-6.2°%4

Fortinet NSE 6 - FortiADC 6.2

Pass Fortinet NSE6 FAD-6.2 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass2lead.com/nse6_fad-6-2.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Fortinet
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

NSE6_FAD-6.2 PDF Dumps | NSE6_FAD-6.2 VCE Dumps | NSE6_FAD-6.2 Practice Test 1/4


https://www.pass2lead.com/nse6_fad-6-2.html
https://www.pass2lead.com/nse6_fad-6-2.html
https://www.pass2lead.com/nse6_fad-6-2.html

P 2L d https://lwww.pass2lead.com/nse6_fad-6-2.html
ass ea 2024 Latest pass2lead NSE6_FAD-6.2 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Which two configuration actions are possible when protecting application delivery servers from clients with IP addresses
in the IP reputation database? (Choose two.)

A. Automatically create a WAF profile based on the traffic
B. Redirect the traffic to a different URL

C. Block the traffic.

D. Analyze the traffic using WVS rules

Correct Answer: BC

QUESTION 2

In global load balancing, why might an administrator configure the response rate limit in FortiADC?
A. To redirect requests from a blocked county

B. To prevent FortiADG from being used in DNS amplification DoS attacks

C. To protect back-end servers from SYN flood attacks D. To prioritize outgoing traffic by sending it through the link with
the lowed response time

Correct Answer: B

QUESTION 3

Which three statements about TurboHTTP are true?

A. It does not support content rewriting.

B. It is supported only on Layer 2 and layer 4 virtual servers.
C. It support the use of secured HTTP traffic.

D. It can be used with Layer 7 virtual servers.

E. It reduces network latency and system CPU usage.

Correct Answer: ADE

QUESTION 4

An administrator is managing a web site that uses specialized servers for streaming, in addition to servers that handle
HTTP traffic.
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To make sure that specialized servers handle the streaming traffic, what FortiADC capacity should they use?
A. Persistence rules

B. Content routing

C. Dynamic load balancing

D. HTTP compression

Correct Answer: B

QUESTION 5

Refer to the exhibits.

Which show the HA configurations for two FortiADC devices
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If both FortiADC devices are operational, which FortiADC is the active device in the cluster?
A. The FortiADC with the highest HA uptime value

B. The FortiADC with the highest sorting serial number

C. FortiADC-1

D. FortiADC-2

Correct Answer: D
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